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Weyl/Clifford algebras
k: commutative field.
The Weyl algebra:
Weyl ) = K[h, C, Xo, X1, ..., Xn, Xo, X1, - . ., Xu] /(CCR)

[Xi, X;] = hCo;, [Xi, X]=0, [Xi;,X]=0. (CCR)

C, h are both central.
Clifford algebra:

Cliff S — K[h, C, k, By, ..., En, Eo, ..., E;]/(CAR)

[E:, E]], = Chkéy, [Ei,E]. =0, [E,E];=0. (CAR)



Weyl-Clifford algebra

WC T = Weyl(h D) @igp p CHifF 5"
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X,'l—) E,' X,l—>0
- )_<,l—>0 = )_<,'l—> E,'
’ E,‘ — 0 . E,' — —kX,
E,' — k)_<, E; — 0.
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12 & % Marsden-Weinstein quotient

pr=kY XX+ EE — kRC.

[1ir, f] = sdeg(f) - f
AP = (WC)o/(11r)-
A = AP /(k-torsions)

O char(k) =0 = (WC)o = (ugr D normalizer)
A 1X WC D Marsden-Weinstein quotient (224725
(cf. P"(C ) {veChv|]? = R}/S")

R: *BRED 3.
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Zomb char(k) = p > 0 &ARKE.
R & general 2k %, DFY,
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E'/ii P" x P

A O center: k[h, k, C,{XPXF}].
ZXX Z EE)

C IZHEEE

(1 (pp )P == Y XPR?

- CP I [XPXPY R MA R
——

P" %P7 D
7

AP <P LOBORERSZENTES,




local calculation

U = {Xo # 0}(= A" x P")

TH 25, (indexi1%0,...n index i 1,...n ZEEHED
£95, )

AY = K[k, h, C, X}, X, €, €, €, €, m]
RY =Kk[k, h, C,x;, x!, dx;, Ox]]

Q© — P /P15
Rsparse - 1k[ha Ca)(_[a)<j 7dXJ,Xj aXJ

AY D RJ ee + Roparse - (0RC =€)

sparse

g = Z)_(,'E;
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Theorem

A(? = ]k[k7 h, C,)(j,)(l{, eo, 667 ej7 ej{’ m]
RY =Kk, h, C,x;,x], dx;, Ox]]

Q© — P /P15
Rsparse - Ik[ha C, X, XJ 5 dXJ,XJ 8XJ]

[ BEGHAY D Ry e + Roarse - (@0RC — £) 13 quasi-isom. ]




Deligne-lllusie Hgm DAL
[AQQ O Ryurse + Reparse - (80RC —€) 1 quasi—isom]
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Asparse

(A7 5) D) (Asparse) 0)

Asparse = 35S K Q2

sparse

S & extension:

0—-Q*=S5S—-0Q*"=0

HY = HY(P", Q') =2 Extpa (0, Q) — Extpa(Q°, Q%)

WIZHEWT, HY &Gz e T 5.



cohomology Bz D [AlE

H*(A, ) = k[n] @i k[A]

BEfR=A:
n? =0, AT =0,

k[A] 1% P" @ cohomology E&.
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V:variety C P" IZxf L T,
Av = A/(17. 1)

LEET D,

AV ~ Asparse,V
q.i
Asparse,V = SV X QV,sparse

Rir(Asparse,V, 5) = H(Sv) & H(V7 Q)
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